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Note : All questions are compulsory. Marks are alloted against 

each question. 

	

1. 	Write full name of the following : 	 1x5=5 

(a) SCERT 

(b) RCI 

(c) N.T.Act, 1999 

(d) MD 

(e) HI 

	

2. 	Answer the following in one or two sentences : 

(a) Define Integrated Education. 	2x5=10  

(b) What is Itinerant model of Integrated 
Education ? 

(c) What is the cooperative learning ? 

(d) Write down the two behavioural symptoms 
of visually Impaired child. 

(e) Who are Resource Teachers ? 
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3. 	Write short notes on any four of the following : 

(a) Cluster Model of Integrated Education. 5x4=20 

(b) Difference between Inclusive Education 

and Integrated Education. 

(c) Discuss briefly the role of SSA in inclusion 

of children with disabilities. 

(d) What do you know about Peer group 

acceptacne ? 

(e) Mention some of the main work done by 

the Government of India for Inclusive 

Education. 

	

4. 	Answer any one of the following : 
	

10x1=10 

(a) Describe the Role of NGO in promoting 

Inclusive Education. 

(b) How will you identify a visually impaired 

student in classroom ? 

(c) Discuss the need and relevance of Inclusive 

Education in India. 
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1. 	 -k qtr =r tot I 
	 1x5=5 

(a) It-1..Tft.1.3 .t. 

(b) 3TRA.3Tr. 

(c) , 1999 

(d)  

(e)  

2. 	r-i-irort_lci 	3ritTffi- 	7 .1-4z4 14 	 : 	2x5=10 

(a) 7-4-fa.  fMiT 	LIRITTFEM 	I 

(b) 7-4-t7 NR -11 chiWTT111711-0 Wc\4 411 ? 

(c) TE6trft 34. -zrzri Tr t ? 

(d) -F -4 I 

(e) f9-9.  33WIT:FT T1-9. 	1 t? 
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3. 	f:1+-1f0{ 	c1 	r WTTT{ 41kfq -44 faTcruft 	: 
5x4=20 

(a)7-*--1—fu NIVT 

(b) -crttfff 	ic=f (-1 4-11dPIct NR-Tr 14 3-1- 71 

(c) achc-ii,tqQt -1411, 1-114 	 lifTrwr 

*-)-cr -4 =4,11 a.).  

(d) `TI14-  W  chi 	3Trct 	 

(e) 917-d-  wchlt R1 	NR  -TT t f 	i f*--4 

.wrt chl quf-i ci-; 

	

4. 	F-1 4-1 f M rt_q d A- f 	t drR : 
	10x1=10 

(a) :11=1-r---Nrff fq-R-IT mlqTr4 	.\3.11.3t. 

c41 c)--11t9q1t4 I 

(b) T.IT 	3-Trcr 	1, .qi-ca--q-rfsqff 	ct;1 	 

t4-4? 

(c) wlidPict PR-Tr .t.)1 511ti41chc11 (3-TraFT*--d-r 
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